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(1) flx)=2234+22-2-3, a=1 fl(z)=62>+22x—1, f'(1)=7
(2) f(z)=—2x, a=10 [f'(x)=-2 f/(10)= -2
3) fx)=a3+22%2 —dx+7, a=-2 fl(v)=32"+4x—4, f(-2)=0
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1) f(x)=23=5x+1, a=1 [f(z)=322—-5 y=2x—1
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=-2c+1, a=3 [fl(lv)=-2 y=—-2x+1
=224+2x+3, a=-1 fl(z)=20+2, y=2
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(1) f(z) :x3+gx2—6x—4 f(x)=32>+32—-6=3(x+2)(z— 1)
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(3) f(x) = % T2 + 120 +3 fl(z) =22° — 4o + 12 =2(z — 1)(z + 3)(z — 2)
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(1) f(x)=—2® 322 +92 -2 (—2<x<1)
() =-32%2—62+9=-3(z+3)(z—1)
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(3) f(z) = 37 —2® - 1222 + 122 -4 (-3<x<1)
f'(z) = 62® — 32% — 242 + 12 = 3(2x — 1)(z — 2)(z + 2)
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